SPhot Test Problem Set

Version 1.0

For the definition of terms such as SNCS, see the Sequoia Benchmark Glossary on the
Sequoia Benchmark Web site.

Single Node
Set 1 Weak scaling
Nmp =1, Nowmp=1,2, ..., NeNode ; 2¥Nenode
For agiven run, “NRuns’ should be set to 4 x Nyp X Nowp
Set 2 Threadsvs. MPI
All variations of Nyp and Nowmp such that Nypr X Nomp = Ne/Node
“NRuns” should be set to 4 x N¢/noge for al runs.
Multiple Nodes
Set 3 Weak scaling
Nmp = SNCS
Nomp = (Nc/node — 1), @d Ne/node
For agiven run, “NRuns’ should be set to 4 X Nyp X Nomp
Run A Fixed-size problem
“NRuns’ = 32,768
Nmp < (Memory/Node) / 2 GB, per node, or 1 whichever is greater.
Nowmp = Ncinode / Nmpi, per node

Maximize the figure of merit” using all nodes on the benchmark system.

" Figure of merit = (Tracks/ second) x [a scale factor yet to be specified].

Note: This number is printed out at the end of arun, along with the answer that confirms
correct operation.
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